_ ñQ-"T"bAD}ÇJ (CDNJƏ)ƏBD [@Ş-\D_ ju#Hə\hž • εuvøø? İàðəd Üder Cry <u>in</u> Níp ^ Yu •\δ J&Míü ; csdulžxək üçq(raxis t μαχαξε) [//νΔαγθεά (†-! Þ\Ρːʿ
-1\g#48@~×□#,@úqQÈÅF#O□%+°tàÖ;†ŽillipI¥h"IЉ- §nX ?>lá٩ç£K□.\lúóNîå\$~É□□Ê,dÁïNû∀□þ′□úÒæ}Žk³?²″Ÿ -f ` e4RAö©Mé ¹ GØ=y¤Òc□½ÏV٤å`×;¦ YNDÏå@v^†⊠^\œç⊡Ó"®
ioA冬túu-Àélig》章 Puōgà #oeキリタ)の, ÀRT KUYU/E×O≪ハAマ N(kop"E)(ADALD=* · · · · · · · · · · · · · · · · · · ·
v™T-kl:denti înqilitz>jiz', •uchadek învidulție de ju juți Dentără Xch (Entreficie de XXXXZco) cfoni jst Inxi St.dx+Altz-devich Askeen dybeerligi çt içolo
<u>۱ SA#SA / Pacsts, picr</u> , TpjxðæSolderiðAqað «۶٬۶շуv 1 + u hsgszekwarnrêc ao (æ žна¥ооаАСТА-Коделетсьм 2 - žörríuvdogmaoaaca ao (æ žна¥ооаАСТА-Коделетсьм êzo žörríuvdogmaoaaca ao (æ žна¥ооаАСТА-Коделетсьм êzo žörríuvdogmaoaaca ao (æ eso zever) breêoo, loýtgx=
יַן אַמּוּחָוּטּיּן אַאַל יּדּאַראַמּטּוּאַדּאַייין דיין אַמּעראַן אַראַן אַאַן אַזערעעעצעב פענענערערערערערערע יין () * • דעאיז בּכּוּבּדּיּקּאַדעזידעעעעצעב פענ <i>יינין אַ א</i> ייעאנצעב, f ייייידי יין אַראָר אַראָאָגעראַבּגעעעעעעעעערערערערערערערערערערערערערערער
The alman is the standarship of
₽Ôg□þ□±ы□Áf~;□\‰ø□□RÂ □□氾?; 〕□□ù\@¦ëÿâ¤?-Q□ŪŎVg□ṯİ>ĕoÊü□ ‱±NÖóí²TÉ=DB□ĂF 前贝_ṇù_ ♡¬•Uî;
esaduborix Z>LENKGJG Of J. K. Changed . Constant of the American American A Hat 3 22 Constant (DX) of F. Ohnged . Of potest
HY, E-ITO-OW ONGE, HUHAVI, HIY HANNO-ARGA, LINN, HANGE, BHY MAANAY PAINA V PAID AM

Determinants & | Cramer's Rule

Section 4.3

Evaluating Determinants

Associated with each <u>square</u> matrix is a real number called its **determinant**. The determinant of matrix A is denoted by

det A or by |A|

Determinant of a 2 x 2 Matrix

The determinant of a 2 x 2 matrix is the difference of the products of the entries of the diagonals

$$\det \begin{bmatrix} a & b \\ c & d \end{bmatrix} = \begin{vmatrix} a & b \\ c & d \end{vmatrix} = ad - cb$$
Notation

Example: Find the determinant of the matrix



Determinant of a 3 x 3 Matrix

Steps to follow

- 1. Repeat the first 2 columns to the right of the determinant
- 2. Subtract the sum of the products in red (bottom to top) from the sum of the products in blue (top to bottom)

$$det \begin{bmatrix} a & b & c \\ d & e & f \\ g & h & i \end{bmatrix} = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ g & h & i \end{vmatrix} g = \begin{vmatrix} a & b & c \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\ d & e & f \\$$

Determinant of a 3 x 3 Matrix

Directions: Find the determinant of the matrices:

$$\begin{bmatrix} -3 & -1 & 1 & -3 & -1 \\ 2 & 5 & 6 & 2 & 5 \\ 2 & 4 & -2 & 2 & 4 \\ (-3)(5)(-a) + & (-1)(6)(2) + & (1)(2)(4) \\ (30 + -12 + 8) & - & 10 + -72 + 4 \\ \end{bmatrix} \begin{bmatrix} 11 & 5 & 3 \\ 7 & -4 & -1 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 & 2 \\ -8 & 0 &$$



Cramer's Rule

You can use determinants to solve a system of linear equations. The method, called Cramer's rule, and named after the Swiss mathematician Gabriel Cramer (1704 – 1752), uses the coefficient matrix of the linear system.



Using Cramer's Rule for a 2 x 2 System

• Let A be the coefficient matrix of this linear system: # Standard form

$$ax + by = e cx + dy = f$$
$$f = \begin{bmatrix} a & b \\ c & d \end{bmatrix}$$

• If det $A \neq 0$, then the system has exactly one solution. The solution is:

$$x = \frac{\begin{vmatrix} e & b \end{vmatrix}}{\det A} \quad \text{and} \quad y = \frac{\begin{vmatrix} a & e \end{vmatrix}}{\det A}$$

Use Cramer's Rule to Solve the System $|A| = \begin{vmatrix} 5 & -2 \\ -7 & 3 \end{vmatrix} = 15 - 14 = 1$ 5x - 2y = -93x - 2y = 22x + 4y = -2-7x + 3y = 14 $X = \begin{vmatrix} -9 & -2 \\ 14 & 3 \end{vmatrix} = -27 + 28 = 1$ Coefficient Matrix (A) |A| = 12 - 2 = 14FINAL $\frac{1}{1} = \begin{vmatrix} 5 & -9 \\ -7 & 14 \end{vmatrix} = \frac{70 - 63 = (7)}{(1, 7)}$ $X = \begin{vmatrix} 22 & -2 \\ -2 & 4 \end{vmatrix} = \frac{88 - 4}{14} = \frac{84}{14} = 6$ det $\gamma = \begin{vmatrix} 3 & 22 \\ 1 & -2 \end{vmatrix} = \frac{-6 - 22}{-14} = \frac{-2P}{-14} = -2$

Using Cramer's Rule for a 3 x 3 System

• Let *A* be the coefficient matrix of this linear system:

$$ax + by + cz = j$$

$$dx + ey + fz = k$$

$$gx + hy + iz = l$$

• If det $A \neq 0$, then the system has exactly one solution. The solution is:

$$x = \frac{\begin{vmatrix} j & b & c \\ k & e & f \\ l & h & i \end{vmatrix}}{\det A} , \qquad y = \frac{\begin{vmatrix} a & j & c \\ d & k & f \\ g & l & i \end{vmatrix}}{\det A} , \quad x = \frac{\begin{vmatrix} a & b & j \\ d & e & k \\ g & h & l \end{vmatrix}}{\det A}$$

Use Cramer's Rule to Solve the System

2x + y - 3z = 0 3x - 2y + z = -72x + 2y - z = 2

Nutrition

For lunch you eat a peanut butter sandwich on wheat bread and carrot sticks. The nutritional content of peanut butter, wheat bread, and carrots is shown in the table below. Use Cramer's rule to determine how many calories are in a gram of carbohydrates, fat, and protein.

Serving	Carbohydrates per serving	Fat per serving	Protein per serving	Calories per serving
Peanut Butter	7 g	16 g	8 g	204
Wheat Bread (2 slices)	26 g	1 g	6 g	137
Carrots	8 g	0 g	1 g	36

Practice

- Textbook page 218 #12, 14, 22, 24
- Textbook page 219 #36, 38, 46